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1.  Answer any two questions :
(a) Explain the different concepts of National Income.
(b) Discuss the circular flow of income in four sector economy.
(c) Explain the measures of money supply.
(d) Discuss the money multiplier.
2. Write notes on any two :
(a) Methods of measurement of National Income.
(b) Difficulties in measurement of National Income.
(c) Determinants of money supply.
(d) Money supply and RBI.
3.  Explain : (any two)
(a) Transaction equation as demand for money theory.
(b) Tobin’s demand for money theory.
(c) Philips curve
(d) Monetary policy and inflation
4.  Discuss any two :
(a) Keynes’s liquidity preference approach
(b) Baumol’s Inventory approach
(c) Samuelson’s theory of Business cycle
(d) Inflation and Fiscal policy
5. Select correct answers :
(1) NNP= .
(a) GDP+(X-M) (b) NDP+ (X-M)
(c) GNP+ (X-M) (d) GDP + GNP
(2) Disposable Income =
(a PY-S (b) PY+S
(c) PY-T d PY+T
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National Income is determined where

(a) AD=AS b)) Y=C+I

c) Y=C+S (d) AD+AS
How many methods are there to measure GNP ?
(a) One (b) Two

(¢) Three (d) Four

Money is what does.

(a) person (b) rupee

(c) saving (d) None of these
Money supply is determined by in India.
(a) Monetary Authority (b) RBI

(¢c) IMF (d) World Bank
Mg = .

(a C+S (b) C+1

(0 C+T (d C+D
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Money multiplier and Investment multiplier determine
(a) Demand for money  (b) Supply of money

(c) National Income (d) None of these
Cash balance equation of QTM is

MV
(a) M=KPR (b)y P= T
(¢) MV =PRT (d) None of these
Speculative demand for money concept is given by
(a) Pigou (b) Fisher
(¢) Tobin (d) Keynes
Transaction demand for money depends on
(a) Rate of Interest (b) Level of Income
(c) Consumption (d) Exchange Rate

Philips curve explain the relationship between ____
(a) Income and expenditure

(b) Income and Employment

(c) Rate of interest and inflation

(d) Unemployment and Inflation

How many phases are there in business cycle ?

(@) One (b) Two
(¢) Three (d) Four
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